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Il the dilference in haight of two poinls whose
parallax dilference is (+) 0.8 mmon a pair of stereo
pair laken Irom & flying heighl Hand having mean

~ phato base 95.2 m is {(+) 100 m, then Ihe flying

height Hwill be
{a) 8,000m
{c) 12,000m

{b) 10,000m
{d) 14,000m

Which one of the lollowing indicales the correct
refationship between the llying heighl {(H), Lhe
focal length (N, the air base (8) and the
photographic base (£)?
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The parallax equation 4, = %’%”; s applicable
toenlire overlap of the photograph only If parallax
is measured

(a) normalto base line

{b) paraliclioc baseline

{c) both{a)and b}

{d) neither (a) nor (b)

If'v. rand ;f; are the ground speed ol the aircralt,

the shutter speed of the camera and the scale of
the photograph respectively, then the amount of
image displacement

@ i= v.t.H
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Match Lisl-l {Vanables used i slergo-
photagiammetry} with Lisl-ll {Values of the
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variable)s and selecl the correct answer using

the codes given below (he fists:
List-] ’

A. The normal longitudinal overlap along the
{light line

B, The normal overlap botween the adjacent
sirips

C. Eye base (average) assumed

D. Tolerable difference in scale of adjoining

photographs

Ust-lI

Al leasl 20%

Uplo 15%

. 60% ormore

. B4mm

Codes:
A

(@ 1

v) 3

{c) 1

td) 3
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Malch List-1 (Elements of acrial photogrammeiry)
with List-Il (Explanation of (he elements) and
select the correct answer using the codes given
below Iha lists:
List-]
Parspeclive cenlre
Plumb point
. Principat paint
. Isocentra
List:)
The point where the perpendicular from e
oplical centre af the lens meels the
photograph
2. The point where the rays [rom the objects
converge
3. The poinl where the vertical thrcughthe oplical
centre meels the pholograph

vom>
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4. The paint where the horizonlal through oplical
centre meels the photograph

5. The point where the biseclor of the angle
between vertical and perpendicular from
oplical cenre meet the pholograph

Codes:

A B C D
@2 4 1 3
by2 1 3 5
cy2 3 1 &
@4 3 12

WMatch List-l {Nama) with List-li {Explanation) with

respect to agrial photograrmmelry and sclect the

correct answer using the codes given below the

hists: :
List-l

A, Prncipal point

B. Isocentre

C. Crab

D. Orilt
Lisl-It

1. The angle formed between the flight line and
the edges of photograph in the direction of
flight

2. Failure of the aeroplane 1o stay on the
predetermined flight line

3. Thle point where a perpendicular dropped
from the {ront nodal point slrikes the
phrolograph

4. The paint al which the bisector of the angle
al tite meels the pholograph

Codes;:
A

{a) 4

() 4

{c) 3

((i] 3.
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Assertion A : Every point on Lhe aerial
photograph, which is displaced from its true
orthographic position, is calied reliel
displacement.

Heason R : Reliel displacement increases as
the distance from the principal point decreases.

Qs

{3) both A and R are frue and R is the correct
explanalionol A

{b} bolh A and Rare tue bul R is not a correct
explanation of A

{c} Ais true bulRis false

{d} Aisfalse but Ris lnie

Averlical pholograph was taken froman aircrait
{lying at an ahitude of 2000 m above mean sea
fevel. The focal length ot the cameraiis 175 mm.
The scale of the pholegraph for a hill of an
elevalion of 250 mis
{a) 110000

{c) 1200000

{b) 1150000
{d) 1725000

Q.10 Inan aerial pholograph, if the photograph has a

tilt of 3* and the focal length is 100 mm, then the
distance between ihe perspeclive centre and the

plumb-point wili be 5
() 100tan3" {b) 100cos3°
{c} 100/5in3° {d) 100/cos3®

Q.11 Inan aerial pholograph, if the photograph has a

lilt of 4° and the focal fength is 200 mm, then the
distance between the principal poinl 2nd plumb

poinl wifl be
(8) 200tan4°® {b) 200cos4®
{c} 200/sind" {d) 200/cos4®

Q.12 An aireralt is flying at a ground speed of

200 kmffv. The focal length of the camera is
2000 mm. The ground distance covered is
200 mm, The ground distance covered along the
{hght line between cxposures is 2 km, The lime
inlerval between exposures is given by

{3} 1Bscc {b) 36sec

(c} 72sec (@) 180sec

Q.13 1 /is the focal fenglh, {is the angle of Lilt, then

the dislance ol isocentre onthe principalfine Irom
the principal pointis T
{a fiant
)y feotr

{b) fian y2
() feotye

Q.14 Animage of the 1op of the hai is S5 mm from the

principal point of the photograpi. The elevation .
of the top of the hill is 500 mand the fiying height



is 4000 m above the dalum, The relief

displacement will be
(a) 768mm {b) 88mm
€} 12mm {d} 8mm

Q. 15 it an overlapping pair of vertical photegraphs

taken with a 150mm{ocal length camera has an
alr base of 2100 m and Ihe elevation of the control
point ‘A’ on it is 900 m above MS.L, and the
patallax of the point is 75 mm, then the fiying
haight above M.S.L. of the stereopair will be

{a} 3000m " {b} 3150m

{c} 5100m {d} 5250m

Q.16 Inanaerial photo, the image of the lop of a lower

is found to be 10 cm Irom the center of the
photograph. If the height of the tower is 100m
and the flying height of the aircrafl is 1000m
above Ihe average terrain height, then the height
displacemant of Ihe imagae from the lrue posilion

O wilibe
“{a) 10mm b} 20mm
{c} 50mm (d} 00mm

Q. 1? In photogrammetric surveying, the image of the

top of tharhitl is 90 mm from the principal point of
the photagraph. If the elevation of the top of the
hiltis 500mand the fiying haightis 5000 m above
dalum, then the relief displacementis

{8) 0.9mm {0)- 3mm
fc} 90mm {d) 900mm
Q.18 Giventhat

Scals of photograph is 1cm = 100m

Size of photograph = 23emx 23cm

Area to be covered = 150 sgq. km
Longitudinaloveriap = 60%

_ Side overlap = 30%

The tolal number of photographs required for

covering the above areais
(@) 13 {b} 102
) 58 GHIE)

Q.19 I the parallax difference between the top and

" botiom of a ree is measured as 1,32 mmona
slereo-pair of phoias taken at 3000 m above
ground and the average pholo base is £6 mm.
then the heighl of the iree wilt be

(a) 4545 m {b) 60.00m
{c} 23.51m {d) 39.50m
Q.20 Giventhat

Scata of ihz pholograg’y, 1em=580m
Size of piialograph = 18 cm x 18cm
Percenlage longitudinai overlap = 80%
Percentage sida averlap = 33%

Covered area = 108 sghm

The req. ed numbar b photograph il be
{a) 200 {b) 400

{c) 50 {dy 600

Q.21 mages of two objects on a pair of photograph

have a parallax difference ol 1.8 mm and an
average pholograph base of B8.2 mm, The flying
heightis 4008 m above the average ground level.
Tha difference in elevation of lhe two objecls
would be
(a) 40m
{c] 80m

{b} 60m
,(d) 90m

Q.22 Atower appears in two successive photograph

laken an altitude of 400 rn above dalum. The focal
length of ihe camera is 160mm. The length of the
air base is 300 m. The parallax for the top and
bottom of the pole are 72 mm and 63 mm
respectively, The height of the lop of the lower
above ils bollom is nearly

{a) 83mm &) 72mm
€} 95mm (d} 135mm

i

Q.23 The tilt displacement in an aerial photograph is

radial frorn
fa) Plumb poinl
{c) Principat point

{b) lsocentre 5[minl
{d) Nadir point

Q.24 In an aerfal photograph, it the average pholo

scaleis 1in 22000, the local length of the camera
lens is 20 cm, the flying héighl abovs datum is
5000 m, the average lerrain elevalion above
datum should be:
{a} 600m
(c} 500m

{o) 550m
{d) 450m

Q.25 Inacrial photogrammelry, the lengitudinal overlap

benween wo conseculive photagraphs is kept
benveen

(a) 40% and 60%
(c) 70% and 80%

(b) 50% and BO%
{d} 55% andB5%

Q.26 Animaginary line lying Ihroughoul on surface of

tha earth and praserving a constant inclination to
the harizontal is called as
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1.{c) 2.(b} 3 {b) 4. () 5. {d)
11. () 12. (b} 13.{b) 14.(b} 15. {c}
21. (c) 22. (d} 23.{b) 24.(a) 25. (a)
Arial Surveying
12, - {b)

N 3600L
Timeinterval belween exposures (sec) = v
whare L is ground distance covered betwaen
exposures along the flight ling in kmand V is ihe
ground spesad of the aircraft in knh.

3600x2
= 2w - 36 sec
18. (b}
Ground lenglh covered
= 100 x 23(1 -0.6) = 920 m
Ground width cavered
=100x 23{1-03)=1610m
Net ground area covered by one photegraph
=100 % 1610 m = 1.4Bsqkm
150
Hence number of photograph = VT 101
18, (b)
The height of lree is given by
3000x 132
=060
66 m

6. (¢)
16. (a}

(a) contourline
(c) levelline

7. (c) 8.(c)
17. (b) 18. (D)

9. (@)
19. (b}

26. (b}

20.

24,

(¢
Ground length covered
=50x 18{1-0.6)=360m
Ground widlh covered
=50x18(1-0.33)=603m
., No. of pholagraphs

1()8r‘1()tI
* 360x603
(a)
1
Scale of photegraph = 22000
f 1
H-h ~ 22000
020 1
5000-n 22000
5000 - h = 0.20 % 22000
5000 -t = 4400
h = 5000 - 4400
h=600m

{b) contour gradient
(d) line of gentle slope

10. (d)
20. {¢)

= 497.5 ~500(say)



